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Annexure-A
Format
To,
Assistant Personnel Officer,
Mechanical Workshop, Samastipur

Subject:-Representation against the Provisional Answer Keys Published as on
30.11.2024 on the Website of E.C Railway/SPJ
ER R R S S T
L (Full Name), Designation....................c........
place of Posting....................... Challenge the key provided in connection with the written
Exam held on 30.11.2024 (Saturday) to the post of Junior Engineer, Level-06 of Mechanical
Workshop/SPJ.

Question No Answer key as Correct Answer As Reason(s) with
published on Website per Candidate Supporting
Documents

Signature:

Name (In Block Letter):
Designation:

Employee No:

Ticket No:

Station:
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Duration - 02 Hours_ Date - 30/11/2024 Maximum Marks - 100

Important Instructions:

1. Each question carries 01 mark. 1/3™ marks will be deducted for every
Wrong answer.

2. Total 110 questions are given in this question paper. 100 questions are to

be attempted. Questions 1 to 90 are compulsory. Attempt either

questions 91 to 100 or 101 to 110.

Choose only one option in each question from the given 04 options.

Use only blue or black ball pen.

5. No cutting, overwriting, erasing or correction of answer is permitted. In all
these cases evaluation of the respective question will not be done.

ol o

Agcaqur fager:

1. YAF TA FH 01 3F ¢ S ITed 31 & fow 1/3 3 e Seem|
2. 39 9T 93 A Fel 110 I ¥\ 100 et B ger AT 1 A 1 #?a
Fard &1 wer91 #100 F1101 H110 7 @ et v B FTIART |
3. Wmaﬁﬁvmmﬁmﬁ#mwmgﬁn
S 7 Tl Sfer O T 3TIRT R
: :T:Tﬁﬁm’léma, SRS, AT 41 GUR A AT 76l ¢ T

ATt # G e Y Fghe e A e



tant pressure?
hat occurs at cons
ic me!” t hatic
hermodynam D) Adia
1. Which of the followIng iil :o::lrlt ) Isothermal NS
A) Isochoric ” B) s § s @A gama
A) SRR 6) yEnRE ) 3T ’
ine
2. What is the purpose of a governor In an ::: the power
A) To regulate the speed 8) To incre fuel Injection
C) To measure temperature D) To control fué

§ 3 AT o g T
A) T ® Prafig s 8) uf@a @@ ,
o,mﬁﬂmﬁ’rﬂ“ﬂﬁﬂa“ l

C) A= Argar

3. The efficiency of a Carnot engine depends on:

A) The work done

B) The speed of the engine

C) The volume of the working substance

D) The temperatures of the hot and cold reservoirs

FANE $1 F¥ ZavaT R @ R A

A) FT fagr arar

B) 51T #r arfy

C) F 92 Y 3iraraey

D) 13 3R 32 Sremerat #1 arqAwT _
ger is the heat transferred through a wall separating the two fluids?

4. In which type of heat exchan ar
A) Air-cooled heat exchanger B) Plate heat exchanger
D) Double-pipe heat exchanger

C) Shell and tube heat exchanger )
ﬁmm*aﬂzmmﬁma?*mmmamm#maﬂHMP

A) T Fw3 i vFaEeR B) T T vFAdS
C) A 3R Tqw e vty D) 39 TS €T vFHES

5. Which of the following is a machine element used to transmit rotary motion?
A) Pulley B) Shaft C) Gear D) Bearing
fFffRad sy N A0F T & it quiet afy Y srarRa s
A) geit B) AMFE C) frax D) feafar

6. Which law explains the relationship between volume, and temperature of a gas?
A) Boyle’s Law B) Charles's Law C) Gay-Lussac’s Law D) Ideal Gas Law

mmﬁmﬂwtm,mammakmmﬁmmh
ATITF TR ) Tl T RTH C) - H TR D) 31meret I 357 Fragaq

7. In a shaper machine, the cutting stroke is performed by which part?

A) Ram B) Tool C) Table D) Cutter
Mmﬂa#mmﬁr«maﬁmﬁmmh
A) TH B) g C) ¢ D) FeX

8. Which device is used to store electrical energy in an electric field?
A) Resistor  B) Capacitor C) Inductor D) Transformer

mmwmm#ﬁ@am#mﬁamakmmﬁmmh
AVRIUE g EuRE o) ke D) SwRR

9. In a parallel circuit, the total resistance is...
A) The sum of all individual resistances
B) The product of all individual resistances

C) Less than the smallest resistance
D) The inverse of the sum of the inverses of individual resistances

-\



C,m .'mmﬂ
W T 4 o vy mmmmo::mamum

10. Which m
a
A) C - t'::'A"‘ generally used as the core material in transformers?
Oppe: uminum C) Silicon steel D) ron

e R e T iy ——

A) arar W st )
ll.mlutho:f:oc f . ey
) Ouumeses e tof increasing the temperature on the resistance of most conductors/’
) No resistance B) Increases the resistance
effect on the resistance D) Resistance becomes zero

T arew & afry o argwe agr w wsma @ gren B
A) Wiy wzar ¢ 8) afaroy agan &
C) 9fA0y 9T #Y D ft gzar D) syt o= gy AT &

12. What is the area of a rhombus with diagonals 8 cm and 6 cm?
A) 48 cm? B) 24 cm’ C) 20 cm? D) 18 cm?
wauuggaﬁmm:mmamm ST ST FT g7
A) 48 cm? B) 24 cm? C) 20cm? D) 18 cm?
13. What is the lateral surface area of a cone with radius 6 cm and height 8 cm? (Use n = 3.14)
A) 75.36 cm® B)113.04cm® C)188.4cm’ D)214.2cm’
v o ForaenT o 6 #8HeT 3R 3 8 AAATE, FHFT ITed YAGA FT FA?
(n = 3.14 ATAFT)
A) 75.36 cm? B) 113.04 cm? C) 188.4 cm’ D) 214.2 cm?
14. What is the sum of the roots of the quadratic equation x*~7x+10=0 ?
A)7 B) -7 C)10 D) -10
afOTr GHFTOT x2-7x+10=0 T TS &1 TT AT F9IT?
A)7 B)-7 C) 10 D) -10
15. What is the greatest common divisor (GCD) of 36 and 607
A) 12 B) 18 C)24 D) 30
36 31 60 FT HgaH FAIG (GCD) FATE?
A) 12 B) 18 C) 24 D) 30
16. What is the next number in the sequence: 2, 6, 12, 20, -
A) 25 B) 28 C) 30 D) 40
FH 2,6, 12, 20, ... 7 3T HEAT FT gl
A) 25 B) 28 C) 30 D) 40
17. If all roses are flowers and some flowers fade quickly, which of the following is true?
A) Some roses fade quickly B) All roses fade quickly
C) Some flowers are roses D) None of the above

a2 @l a[ra ol § T FT Tl STed) T A1) §, A FrAfaf@a # aFia aradr ¥
A)FBTAA T AGTAAE  B) WHY el e 73T A1 &

O FC G T § D) 3947 # 8 1§ eT
18. If a clock shows 3:15, what is the angle between the hour hand and the minute hand?
A) 90° B) 45° Q75 D)o°
afe o 7 3:15 a3 Y, at 62 3R A 1 g% & dra FrorFrgem
A) 90° B) 45° C)7.5° D) 0*
19. What is the missing number in the sequence: 1,1,2,3,5,8, __?
A) 10 B) 11 C)12 D)13 -

$H HAHH A HAAN AGTUFAIENN 1,1, 2,3,5,8, 7
A) 10 B) 11 )12 D) 13



, 64, 128, 160
20. Find the odd one out: 2, 4, 8, 16, 32 D) 32
A) 2 B) 160 oy

C
4
8, 1607
5T & s e wtA Wk 2,4, 8,16, ”-;" - q
A)2 B) 160 (o] 5 19 D)
21. Choose the odd one out: 3, 7, 11, 15, 0) 11
A)3 B)7 €) 15 :
1 A yaAg wemr st @ R 3, 7,11, 15,19
pr i o ’ ilwlll catch 9 mice in 9 minutes?
22.1f 3 cats catch 3 mice in 3 minutes, how ml"vo?:l;
> s i #1 9 Az & frah afeaat owdm 2
TR 3 Rfderat 3 sgzt o 3 Brere 7t qwse &, o o7t
A)3 B)6 09 ? D) 12
23. What type of wave is seismic wave ——_— . —_—
A) Surface Wave B) Longitudinal Wave  C) Transverse Wave ) omagnetic

T 7 vaR fra i _ . :
NEE T b AfeRam At o AT D) PR BT
24. Which of the following is a fundamental force in nature? P
A) Frictional Force B) Centrifugal Force  C) Nuclear Force D) Reaction
TR Tt 2 Pt fRre 4 2 ke v A A &
A) Ot gor

B)Fmaliad )T aw ) wfafawam ae
25. A dice is rolled once. What is the probability of not getting a composite number?
A) 1/2 B) 1/6 C)1/3 D) 2/3
U STHT O AR e s 2 WA Hear Wy Tt $ wsnaar
A) 1/2 )1/

C)1/3 D) 2/3
26. Osteomalacia’ disease is c3

used due to the deficiency of ?
A) Vitamin A B) Vitamin B

C) Vitamin C D) Vitamin D
‘Hifdeay AT Sy ama:maaran
A) Rafas A B) e

ORafdmc p Rafaap
27. Section 49 of Factories Act 1948 deals with ?

A) Welfare Officer B) Canteen C) Rest room D) Creche
S 3T, 1048 #Y uRT 49 a8 dafta b
A) Femor 3iferrdy B) & C) formmar vy D) Ry aw
28. If cos @ = 1/3, what is the value of sin 7
A)1/3 B)v2/3 C)ve/3 D) ve/3
A& cos6=1/3, A sing FT AT F1 8

A)1/3 B)v2/3 C)ve/3 D) v6/3
29. Which state is known as the "Spice Garden of India"?
A) Tamil Nady B) Kerala

D) Karnataka

A dRETE p)amg C) 3T wer D) Fefie

30. In which state is the "Tawang Monastery" located?

A) Assam B) Arunachal Pradesh C) Himachal Pradesh D) Sikkim
"q4T A A& e rsw g by

A) FEH B) 3FOIT wwr C) RRrraa w2y D) RfRws
31. Who was the first woman ruler of India?
A) Razia Sultan B) Indira Gandhi

C) Lakshmi Bai D) Nur Jahan
mﬁmmw@mmm
A;rﬁnrgaam B) 3T amely C) T Ferharg D) JX=gT



32. Who
: was the last
A) Jawaharla| Neh?fvemor.ﬁen"" of independent India?
A B .
) Lord Mountbatten C) C Rajagopalachari D) Rajendra Prasad

H|ay .
A)mmm*:“mmmmm
B) A8 srsedea C) i wratrarararh ) wAeE wEE

33. Where di
did the British build Fort Saint George ?

A) Cal
a ;t;ta B) Delhi C) Bombay D) Mad

fafee W ¥ St g aevarar an h

A)

" Thm B) el C) aad D) #eTH

‘ A)e;a:ital of the Chola Dynasty was:
adurai ‘ :

e rai & B) Ta:‘-j:;:n? C) Delhi D) Pataliputra

35 w]hich oS C) Rt D) AT
- e ﬂlmcle of the Indian Constitution deals with the abolition of untouchability ?
C e. 15 B) Article 17 C) Article 19 D) Article 21
HRAT HUT &1 H1 mﬁmmﬁm#ﬁma?
. A) HEBE 15 B) HIEBE 17 C) Hefedic 19 D) He[eie 21
6. Perso'? having ultimate control over the affairs of a factory under Factories Act, 1948 is called ?
A) Chief Manager B) Managing Director  C) Occupier D) Chairman

Sfaear sfafaas, 194s$agawm$mna?waiﬁwﬁmwmﬂmﬂwﬁaaﬂm

FETATAT &7
A) HET Jaus B) waes fardere C) 3MEYUTAR D) HETET
37. Which article of the Indian Constitution provides for the suspension of Fundamental Rights

during an emergency?
B) Article 356 C) Article 370 D) Article 359

A) Article 368
Wmmmmﬂmmﬁmnjmﬁmﬁamﬂm
FATE?
C) 33T 370 D) He[e3< 359

A) HTTOZ 368 B) HeJEOG 356

38. Which section of Payment of Wages Act, 1936 dea
C) Section 20 D) Section 14

Is with deductions for absence from duty ?

A) Section 12 B) Section 9
s da Hfafazs, 1936 & T UTT # ST & TP (6 T FEkA Helftrey sraure &2
A) URT 12 B) URT9 C)URT20 D) URT14
ok like?

39. What does a normal distribution curve lo
D) U-shaped curve

A) Bell-shaped curve B) Straight line C) Exponential curve

ATATAT FAGTOT (Normal Distribution) T HTHT T gIaT 87
A) GO F FHEIFaF  B) Atfr@ ) tFHIAIdd dd D) U AR HTIH
40. What is the mode of the following data: 2,3,4,5,5,7,7,9,9,9,10,11 ?
D) 6.75

A)S B)7 C)9
ErrAfafad yiws &1 A% (Mode) #41¢:2,3,4,5,5,7,7,9,9,9,10.11 ?
A)S B)7 )9 D) 6.75
41. What is the variance of the data set 2, 4, 6, 8, and 10?
A) 4 B)6 C)8 D) 12
37187 2, 4, 6, 8, {10 F1 FAA (Variance) FTE?
A)4 B)6 C)8 D) 12
f a computer called ?

42. What does the starting or restarting 0
A) Exit B) Refresh C) Shutdown D) Boot



*qlz?ﬁqtmmmmjtmmmmh
A UfisE ) frwer ewessa o)qE

43. What js the full name of ISON?
A) Integral service digital network
B) Integrated services domain network
C) Integrated services data network
D) Integrated services digital network

ISON T 931 797 gy [ 14
A) SIS BT RS deasd:
B) ST Wfdw et e
C) $nrs AW 3oy deads
D) $3 A RS dead:
44. What is the lost Computer memory due to the disturbance of electricity called?

A) Volatile memory B) Non volatile memory
C) Random memory D) Read memory

ﬁm*m-waakmaﬁg*umﬁmmﬂmmm??
A) AETS S ARy B) AlT-aYeTeTEer Anyey OBHEAAD D) Sz Amrd

45. What is the fyll form of TQM in manufacturing technology ?
A) Tooling Quantity Management
B) Task Quality Management
C) Team Quality Management
D) Total Quality Management

ﬁﬁm’rurw‘ray‘tﬁﬁﬁmm FIRTFTFTE
A) ZTeie Faifed At

B) TR FaifardY Astorate

C) OF FaIfadY Hderaie

D) TIee Faferdy Adsate

46. Section 25 of the Payment of Wages Act, 1936 deals with ?
A) Deductions for damage or loss B) Display by notice of abstracts of the Act
C) Procedure in the trial of offenses D) Protection of action taken in good faith

I AT 1f0faA, 1936 Y 4ry 25 fraa defta i
A) 8173 a1 g1fer & faro ety B)Hﬁlﬁmﬁmﬁwmmmﬁw
C) 3Rl & gdveror i gfar o)mmm#ﬁvwmmm
47. Minimum Wages Act, 1948 requires to fix minimum rates of wages in respect of

employment specified in the schedule.
A) Central Government B) State Government
C) Local Administration D) Appropriate Government

FATH A HOTATH, 1948 F @, w#mm*mmmmw

e s e o=z 2
AFTTWEFR  B) ST TFR OIS p)3RTmER
48. How many schedule(s) is/are there of the Minimum Wages Act, 19487
A1l B) 2 C)3 D)4
YATH A9 AT, 1948 # el st &
A1l B) 2 03 D)4
49. In which amendment the name “Workmen’s Compensation Act” was changed to “Employee’s

Compensation Act”?

A) 2002 Amendment B) 2005 Amendment C) 2009 Amendment D) 2011 Amendment



&8 e
| "m
FFFRVA v &1 AT aEAwT rcEln s S FOSAA vEe Tan

A) 2002 EeuR
50. 2‘cupahonal Disen:: :00'* vie-n R B AA TP
. 11
) Schedule 3 B)S me under which schedule of the Employes’ f' )
Schedule1 C)Scheduled D) s‘h'dp Irv)t s Compensation Act ?
ule

a:ﬂ-qm“ﬁ‘ﬁ
A) 3T 3 T Y R e 3 v o 7
i B) WML ) WA 0) WA

S1. What
sth
A) Pascal'sel:::m D”I'B'l(iple behind a hydraulic press?
) Archimedes' principle  C) Newton's third law D) Bernoulli's principle

) OwS & fRguia 8) kS & g

. 'ilﬂﬁi{:?wmm D) &t &1 fgurd
. ! c‘;ns:":Chli"lCS. Bernoulli’s equation is based on the principle of:
O atjon of pressure B) Conservation of momentum
e servation of energy D) Conservation of heat
mﬁft# oAl a7 wHveRoT fR FguTe ot smuRd &7

A) ZaTd T HIETOT B) HAT T HIETOT C) ST &1 HLRT0T
umber is used to predict:
B) Stress distribution
D) Flow regime in a fluid

C) Thermal conductivity
YeiTog® HEAT &1 3UAT 0 3 Fare T ST &7
A) FrEIY Y dred g) dATa faaTor ¢) ardr =rerehdT

an amorphous material?

54. Which of the following is an example of
C) Aluminum D) Copper

A) Quartz B) Glass
eaafaa A A Fa A JyAYE T T 3TET L1
A) @St B) Fa C) p) drar
55. Which of the following techniques is used to study the crystalline structure of materials?
A) X-ray diffraction B) Scanning electron microscopy
C) Atomic absorption spectroscopy D) Ultrasonics
A& mmmmﬁmmmaﬁmmmmmp

a) vFE-Y REdd

) AT gagend D) Hegraaad
56. In the Lagrangian formulation, what does the Lagrangian

A) potential energy of the system

B) Kinetic energy of the system

() Difference between kinetic energy and potential energy
by external forces

D) Work done
riiferaa fReuid A, arafaad G EALCUT

p) 7T &1 HTET

53. The Reynolds n
A) Material strength

D)aﬁﬁmﬁﬁmﬁ

function represent?

p) @l mmmmm
e two bodies is:

57. In a two-body system, the relative velocity between th
A) The vector sum of the velocities of the bodies
g) The vector difference of the velocities of the bodies
C) The scalar sum of the velocities of the bodies

D) Zeroinan elastic collision



B-F ol ¥, 21 it & dre v A T ¥
A) aﬁrmttﬁwmw
B) 21t Aot & dart oy AT AT
C) 2Xt a¥gait & it v oY YT
D) UF Wi zant &
58. What does the work-energy theorem state? -
A) Work dane is equal to the change in potential e
8) Work done is equal to the change in kinetic energy

C) Work done is equal to the force applied
D) Work done is equal to the velocity squared

TS vy Fr wEaT

A) R I v R 3t 3 Rader & arac &
8) R aram st avferr st 3 e & a2
©) R ara v ey e s v 3
D)ﬁ:mnmmawa;aﬂtmt

59. What is the rate of interest for advance sanction for purchase of computer ?

A)7.80% B)8.80% C)9.10% D) 9.80 %
*%ﬁaﬂz%ﬁvaﬁnﬁhﬁﬂmﬂw'ﬁ
A)7.80% B)s.80% €) 9.10% D) 9.80% T

60. At least how Mmany members are required for the registration of a trade union in railways ?
A4 B)S C)6 D)7
W BRRLGEE R &1L 2L T B R T Chr G — ga
A)4 B)S 06 D)7

61. As per D&A Rules, which of the following persons is not permitted to be engaged as a defence
counsel by a charged employee?
A) 1. Another serving Railway employee from the same office
B) A retired Railway servant
C) A trade union official
D) A legal petitioner

D&Aﬁwamqm,ﬁmﬁfaaﬁammmﬁawmmmmmmt
¥ A g a8 B s wwar _

A) 1.mmwmmmmmm

B) U Rarfage Yo sty

C) U 33 gt ey

D) U FIefeAr I1Rrrrarat

62. What is the amount of ex - gratia lumpsum paid for death occurring due to accident in the
course of performance of duty?

A) 25 Lakhs B) 30 Lakhs C) 20 Lakhs D) 35 Lakhs

mtmm#ﬂmwammwam.mmmp
A2STT@ B)30WE 208  p)3sarm
63. Which of the following is wrongly matched ?

A) CRB & CEO - Platinum Pass B) GM - Gold Pass
C) SAG officers - Silver Pass D) JAG officers — Bronze Pass
FfRRad st A A @an

A)casan'{cso-cmtaﬂm B) GM - ez qry
C) SAG A& - fArear urg D) JAG 30 - st qry




64. Wh
en was the UMID carg sche
me

A)2
) 2016 B) 2017 Introduced on Indian Railways?

C) 2018 D) 2019

WA gy

MID #T8 vy

A

) 2016 B) 2017 Q) 20:' 'th:)szm
019

65. A Gn
’ Oup-C Railwa
Yy ser
Service. vant can apply for voluntary retirement after completion of years of

A 15 years B) 20
years )25
U q9-¢ years D) 30 years
A 13;m“‘*“'*'mﬂﬂm#mﬁmmﬁqmtmmﬂmp
B) 20 ¥ C) 25 a% D) 30 ¥ |

66. What | m
d s the maximum
‘ percentage permissible for commutation of pension for a Railway servant?

A) 25% B) 33.33% C
; ) 40% D) 66.67%
&
. Yo Fardy & e dere & T faaw Rrae Siarere &1 i fRam i1 Jehetl &7
) 25% B) 33.33% C) 40% D) 66.67%

67. Max h i i :
e ‘_3‘" many times is partial withdrawal allowed under the NPS during the entire service?
times B)03times C)04times D) No limit

NPS*W{&WW#MMWWM%WP
A)02dR B)03 &N )04 R D) F¥& AT ALY

68. pr many financial upgradations can be granted to a Railway s
his/her service career?

ervant under the MACP Scheme in

A) 02 8) 01 C) 04 D) 03
MACP mtmwmmﬂmwxmmﬁmﬁfaammm
A) 02 B) 01 C) 04 D) 03

69. What is the full form of IRIFM?
A) Indian Railway Institute of Finance Management
B) Indian Railways Institution of Financial Managers
C) Indian Railway Institute of Finance Managers
D) Indian Railways Institute of Financial Management

IRIFM T qoT ¥ 3T 8?

A) SR Yo fae yaud JEIT
a)mmmmww
qmmmﬁawuﬁaﬂmm
D) T o Rd vaud 38T

70. In which projection method are allo
A) Isometric Projection B) Oblique Projection
C) Orthographic Projection D) Perspective Projection

mmiqﬂwﬁmﬂaﬁﬁwaﬁm*wﬁﬂmmg?

A) HTZEATEE TRIIT B)ﬂﬁm
¢) 3mufanfee WEIT D) gfezahIoT wETqoT

lane in engineering drawing?

bjects projected perpendicular to the plane of projection?

71. What is the function of the projection p
A) To display the 3D object B) To define the scale of the drawing
C) To align the object with the projection direction D) To hold the drawing tools
sanfarafier W#Wmmﬂmmﬁ? '
A) 38 T F TR A & fav B) STEAT T SATAT IR A & fT

0) aqﬂumwmna:mumaaﬂﬁtm D) ST 3UFUT 1 @A & feIv
oes an isometric projection represent?

B) 3D view of the object

D) Projection with reduced size

72. In engineering drawing, what d
A) True shape of the object
C) Orthogonal views



Wmnﬁwh

mm*mw::miﬂ 30 7Y -
A) TE] &1 TE HER SRUUA LI ) Rules, 1968, penalties that can
siretanfvw v o) ioline & Appeal) Rules.
JJ‘CL:ndor which rule of the Rallway Servants f:::?p
imposed on any Railway servant, are SPECTE 0 g oA # e
Rule 11 D) . mﬂm
A)Rule6 B)RuleS Q gsatamﬂﬂ““
Yerd assaat (e T arden) FATTH, 1 M
ara & 3 el 3t 4 raerdy O AT S AHA
A\ Breme 8) Braws w5 . tinuous period exceeding _—
74. No Railway servant shall be granted leave of any kind for a cog, 08 Years
A) 12 Months B) 24 Months C) 03 Years & S AR a
Y8 o0 Y vy el 3t e Y REY T T LT HT Hohcl g
s
D) 05 HT
smissed or

A) 12 7@ B)24FfA ()03 ®TH

75. What is the type of pension or allowance granted to a Railway servant who is o

removed from railway service?
A) Compassionate allowance B) Compensation pension
D) Subsistence allowance

C) Proportionate pension
Y e @ aEeT a1 R R e Yo St Y R Fe T SRreT 4T ST RrT ST &2
A)FEDfA ST B) AIEST R ) Hufash dve D) Ty st

76. What will be the amount of contribution to National Pension System when a Railway servant

(under NPS) is placed under suspension?
A) 10% of basic pay without DA B) Only DA C) NIL D) None of these

ST9 I3 Yo FHARY (NPS & cIgeT) foreraet 71 gYam &, A sy Seret Aiar 3 37T A9TETeT

Faeh ofr & g A gem
A) H 3 &7 10% fa=1 DA B)#AADA  C)NIL D)ZAH A FE A

77. Under which rule of the Railway Service (D & A) Rules ,1968 appellete authority can act as

revising authority?
B) Rule 25A  C) Rule 22 D) Rule 21

A) Rule 25
Yo Far (IR 3R srdten) g, 1968 & AR, ey siftaRoT R v & g
qAQETor SIfTor & 9 & 1 7 AFaT 7
A) g 25 B)ffiaA25A o fFEw22 D)1
78. In PL no 21074119, what does 9 indicate ?
D) Check digit

A) Major heading  B) Sub group  C) Minor group
PLAEY 21074119 &, 9 FTFT HY &7
AvHEME B ITEHF ) HEHERE D) ST 3k

79. Railway Servants (Hours of Work and Period of Rest) Rules, were notified by the Ministry of
Railways in which year?

A)1962  B)1972 €) 2005 D) 2006
mmmtﬁmﬁmmmﬂ,ﬁmﬂ#mmaﬁmaﬁ@aﬁm

e &
A) 1962 B) 1972 C) 2005 D) 2006
80. What is the amount of Fixed Medical Allowance admissible monthly to Railway pensioners and
family pensioners?

A) Rs. 900 B) Rs. 1000 C) Rs. 1500 D) Rs. 2000



mmmwmnmmmﬁmmnnm-mh
A) 900 ¥ 8) 1000 yaa C11500 %98 1) 2000 sqar
81. As per IRCA rules, the rejection limips for whee| flange thickness Is -

A) 38mm B8) 25.amm €) 20 mm D) 16 mm

nnthﬂw,mtﬁaﬁmrmmmmmh
A)uMans.aﬂm C) 20 s D) 16 faysf

82. Number of hooters to be Sounded, when accident takes place out station, but main line is clear:
A) 02 long 8) 02 Iong 01 Short €) 03 long 01 short D) none of these

wmmammaaﬁwmmmgmMM¢mm

e
A2 & )0 w5y 018X ()03 wdror pry D) $H & #¥§ 7Y
83. Retirements benefits are Covered under this demand .
A) Grant ng, 13 B) Grant no. 14 C) Grant no. 15 D) Grant no. 16
RREL L S T I &) o
A) TT Fear 13 B) WT wear 14 C) IE H&T 15 D) ATE HE&AT 16
84. Which demand deals With the appropriation to DRF, Pension Fund, Development Fund and

Capital Fyng ?
A) Grant no. 13 B) Grant no. 14 C) Grant no. 15 D) Grant no. 16

HIT Y #73r DR, R G, ﬁﬁmﬁgm'{mﬁrgtﬁvsﬂﬁmﬂﬂiﬁmb

A) TE Hear 13 B) AT Hear 14 C) e H&AT 15 D) T HEA 16
85. Procurement of a new lathe machine is processed through __ 7

A) Demand 15 B) Demand 16 C) Demand 7 D) Demand 8

W%hm#m%ﬁm##mb

A) JIT Fegr 15 B) AT HEar 16 C) AT Her 7 D) i Hexr 8
86. Codal life of steel bodied BOXNHL wagon is years ?

A) 35 B) 30 C) 25 D) 20

& a:marsnaa#mmma ag?

A) 35 B) 30 C) 25 D) 20
87. When was the Railway Budget Seéparated from the Genera| Budget ?

A) 1924 B) 1935 C) 1947 D) 1950
Maazwmwm#wm T U
A) 1924 B) 1935 C) 1947 D) 1950

88. In artisan Categories, an employee may be allowed to officiate on ad - hoc basis for

without Passing a trade test.
A) 02 weeks B) 04 weeks C) o6 Weeks D) o8 Weeks
FRR Aforgt 3t U FHAT F ey UTH 5 faey aa:mmmnam&
FA B Aty & o FHchr
A)OZF‘?-TIB' 8)043‘?*"3' C) o6 D) o8
89. What s th
A 60 Do . ‘;',a;g's“a';‘:m°"2; ‘;;:;’::;::at Ca;)be:;:'::ftdhl::: single occasion within India?

90. Wheel base of Casnup bogie is mm
A) 2000 B) 2400 C) 1200 D) 900
*mzhnwmah\_ fBafr gy
A) 2000 B) 2409 €) 1200 D) 900



91. Proof 1,

A) 36 d Capacity of enhance screw coupling Is ton.
@ B)70 )75 Dp)130
a) o R T g g e
92.1no B)70 )75 D)130
A)S ne unit of BLC wagon thereare_ car Aunit.

8)a ()3 D)2
':;atc & AT
93. Permi Ba (3 )2
Ssible Wheel dia difference of both casnub bogles of a wagon s mm.
B8)10 ()13 D) 25

T A & QA dreratah & ey srarathe a6 it 3R Rt gt wwar )

“NS B)10 ()13 p)2s
- Riding Index of ICF Coach is ‘
A)SS B)4.78 C)35 D) 2.2
ICF Y &7 Tref¥or g3y gl
A)SS8 B)4.78
" C)35
95. The NRV is provided in y o
A)BCline  B)FP line c) BP line d) All above

NRV @ Ret Ao e R s

AVBCTTST B)FPATST  C)apmar  p) SR ESH
96. Maximum slack take up capacity of a Bogie mounted brake cylinder ?

A) 305 mm - B) 310 mm C) 325 mm D) 315 mm
UF TN ATSRS A R A 3 0Faw wdw 2Faw sHEAT T
A) 305 A+ B)310fA# )325fA# D) 315 R

97. What is the Brake cylinder pressure release time from 3.8Kg/cm2 to 0.4 Kg/cm2 with single car
test rig as per IRCA Part IV ?

A) 15 to 20 seconds B) 16 to 22 seconds C) 17 to 21 seconds D) 13 to 18 seconds.
IRCA ST IV & HeJHR, Uahel HR TETOT 3TF0T 7 3.8 Kg/cm? H 0.4 Kg/cm? T e fAeist Zarg
R sag T d?

A)158208%35 B)16¥ 22 q+3 C)17 ¥218F3 D) 13 ¥ 18 A3
98. Minimum percentage of effective brake cylinders on an intensively examined Air-brake goods

train?
A) 95% B) 90% C) 85% D) 75%
U T Y & GHETOT 3T 1T UIT-AF RTINS A THI 3 etz F1 ~gAqaH vferd w2 g?
A) 95% B) 90% C) 85% D) 75%
99. Condemning limit of composite brake block in goods train?
A) 8 mm B) 5 mm C) 10 mm D) 12 mm

mm#ﬁﬁa#ﬁh#mmmma?

A)8 A ) S AA cj10fAdr )12 @A
wagon numbering system 1% & 2™ digit of wagon number indicates ?
uxA’) st:;:;mzyp B) Wagon Type () Year of Manufacture D) Individual Wagon number
T &7 FEAT O & HAAR 3717 T F1 1 3R 2 al 3w ¥ A & ?
A FRA @ B) 3 TR O RfErad D) @fFaera 47 FE

101. Which part of the Constitution contains provisions regarding Official Language?

A) Part X B) Part VIll C)Part XVl D) Part XVill
AU &7 Sl | S TN & way & SraurAt ) AT & &7
A) HTT X B) HTAT VIlI C) HTATXVII D) HTIT XVl




e First Rail
A) Bal Gangadhar Kher "WaY Hind Salahakaar Sami

B constituted 3
C) Govind Ballaph Pant g)) Lalit Narayan Mishra uted in 1973
Lal Bahad
1973 ﬂ'ﬂ%amm%a it

A) 1956 B) 1960 C) 1968 D) 1973
104. When was Official Languages Rules amended ?
A) 1963 B) 1973 C) 1976 D) 1987
TSTHTT & st & wenerer ava Ry oray am
A) 1963 B) 1973 C) 1976 D) 1987
105. How many States are there in Region ‘A"?
A)03 B) 0S )07
A AFRTEH
A) 03 B) 05 C) 07 D) 09 ' . i
106. In which year, Hindi (Parliament) Section was established in Railway Board ¢
A) 1960 B) 1963 C) 1973 D) 1976
9 a2 A 1R (w@we) s & eyga fFa ad fras ae
B) 1963 C) 1973 D) 1976 - N a
IS!I 19£?|ich articlle of the constitution contains a provision regarding the official language of States
A) 344 B) 345 €) 348 e -
T & g Haeae 3 Usal S nfOwiE AT & Jau A waun ¢
b=
A) 344 B) 345 C)348. _ D)349' i
108. Which of the following states falls in Rajbhasha Reglqn
A) 'Bihar B) Punjab C) Kerala D)Chhattisgarh

AR 31 @ #1467 T3 TTHINT 87 C 7 AT 7

1 - n ’

D) 09

B) 1996 C) 2000 D) 2003
%ﬁmﬂ,mmmmwmwﬁmmm
A) 1990 B) 1996 C) 2000 D) 2003

110. Railmantri Rajbhasha Rajat Padak is given to how many members every year?
A)30 B)20 ()10 D)5

Yas A T T Ued Saad fhae serdt # fear s g ?
A)30 B)20 ()10 D)5

=

x



Answer Key to the question paper for selection of JE, Level-06 against 25% IMA quota held on 30/11/2024

Question | Answer | Question | Answer | Question | Answer | Question | Answer | Question | Answer | Question | Answer
1 B 20 B 39 A 58 B 77 A 96 A
2 A 21 C 40 C 59 C 78 D 97 A
3 D 22 A 41 C 60 D 79 C 98 B
4 C 23 A 42 D 61 D 80 B 99 C
5 C 24 C 43 D 62 A 81 D 100 B
6 B 25 D 44 A 63 A 82 D 101 C
7 A 26 D 45 D 64 D 83 A 102 B
8 B 27 A 46 B 65 B 84 B 103 A
9 D 28 C 47 D 66 C 85 B 104 D

10 C 29 B 48 A 67 B 86 B 105 D
11 B 30 B 49 C 68 D 87 A 106 A
12 B 31 A 50 A 69 D 88 C 107 B
13 C 32 C 51 A 70 C 89 D 108 C
14 A 33 D 52 C 71 C 90 A 109 D
15 A 34 B 53 D 72 B 91 C 110 A
16 C 35 B 54 B 73 A 92 D XX XX
17 C 36 C 55 A 74 D 93 D XX XX
18 C 37 D 56 C 75 A 94 C XX XX
19 D 38 B 57 B 76 C 95 B XX XX
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